CEM 01
Vecdor , Diff ecentiul aud Tndegral Icleul: fees
A. Vecter Tdentifies:

axd =~-~bxa

as(bxc) =(axd)ec = (cxa) e '

3. D.Helenhal Idemlches
V x (Vp) = cwrl Vp =
Ve (Vxv)= div curl v -.0
Ve(bv) = Vhev +¢V-v
V x(¢v) = $Vxv +(VE)xv
Vx (uxv) = u(Vev)=-(u:V)v +
+ (vV)u-v (V. u)
T (Vxu) = V(Veu) ~ Au
Ve (uxv) =ve qu -~ e Vv
where u= (g g Uz) T o Au=(AuyAuy Au ),
V = (Vy vy, Vs)p ® =) ~ scalar funchivn.

3. Vector aud Sealar Polenbals:

arlu =0 &> u=VYP | - saler podentin/,

du B =0&> B =cuil A A~ Vec{-o( pkd«;[
n &2 pramcleJ thal & s .sunp(:, connected |

4, Zudegval Tdend (f/es :
° GAQSS theorew Sclu/u da = Su.n dc

o STOUES ’“80'6“' Sca(luonds QU




